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1* REQUIRED
(@) The Appropriation Account for Almond and Barley for the year ended 31 December 2006.

Show your workings to question 1(a) below.

Working Box:




3
(b) (i) The Current Accounts for Almond and Barley as at 31 December 2006.

Show your workings to question 1(b)(i) below.

Working Box:
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(i) The Capital Accounts for Almond, Barley and Cherry as at 1 January 2007.

Show your workings to question 1(b)(ii) below.

Working Box:
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(c) Explain why partnerships generally write off goodwill through the capital account rather
than record it on the balance sheet.

Total Marks [29]
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2 REQUIRED

(@)

*The Trading and Profit and Loss Account for Peter Green for the year ended 31 December
2006 and the Balance Sheet as at that date.

Show your workings to question 2(a) below.

Working Box:
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(b) Peter is considering the possibility of forming a partnership with his local business rival
Danny Violet. State three advantages and three disadvantages of forming such a
partnership.

Total Marks [35]
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3 REQUIRED

(@) Calculate the following ratios for Stone and Rye:

(i)

(i)

(iii)

(iv)

(v)

(vi)

gross profit as a percentage of sales;

........................................................................................................................................ [2]
net profit as a percentage of sales;
........................................................................................................................................ [2]
return on capital employed (based on closing capital)
........................................................................................................................................ [2]
current ratio;
........................................................................................................................................ [2]
liquid (acid test) ratio;
........................................................................................................................................ [2]
stock turnover.
........................................................................................................................................ [4]
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(b) Using the ratios calculated in (a) evaluate:
e the liquidity of both businesses;

¢ the profitability of both businesses.
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(c) Advise the managements of both Stone and Rye on the actions they should now take to
improve liquidity and profitability.

Total Marks [30]
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4 REQUIRED
(@) The Cash Budget for Amber Ltd for the three months ending 31 March 2007.

Show your workings to question 4(a) below.

Working Box:
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(b)* Discuss three benefits to a company of budgeting.

Total marks [26]
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